Division par Puissances de Dix (C)

Trouvez chaque quotient.

40 +10° = 37 +107% =
87 + 1073 = 86 ~ 103 =
96 ~ 10° = 67 ~107% =
94 +~ 1071 = 56 — 102 =
59 - 10% = 69 -~ 1073 =
36 - 107% = 63 =103 =
35 +107"%= 64 - 10% =
43 + 103 = 39 +10° =
46 +10% = 1+107% =
30 = 10° = 36 - 10% =
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Division par Puissances de Dix (C) Solutions

Trouvez chaque quotient.

40 = 10° =40 37 +1072=3700
87 + 1073 =87 000 86 ~ 10° = 0,086
96 + 10° =96 67 +1072=6700
94 +~ 107" =940 56 + 10*= 0,56

59 +10%=0,59 69 +107° =69 000
36 +1072=3600 63 +107° =63 000
35+ 1072=3500 64 + 10% = 0,64

43 =+ 10% = 0,043 39 +10°=39

46 +~10° = 0,46 1+1073=1000
30 +10°=30 36 +~10°=0,36
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